
Integration practice #1 

Write the indefinite integrals 

1 ∫ 3𝑥(𝑥ଶ +  5)ହ . 𝑑𝑥 

 

2. ∫ ௫ ା ଵ଴ହ௫ .dx 

 

3. ∫ √4𝑥 + 3 . 𝑑𝑥 

 

4. ∫  1  2𝑥 + 1  + 𝑒ଷ௫ . 𝑑𝑥 

 

Calculate the definite integrals: 

5. ∫  (3𝑥 + 4)√𝑥 . 𝑑𝑥ଷଵ   

 

6. ∫ ௫௫మ ା ଵ ଷ଴ .dx  

 

7. ∫ ସୡ୭ୱమ(ଶ௫) గ ଼ൗ଴ .dx   

 

8. ∫  ସ௫ ା ௫మ√௫య  ଵ଼ .dx  



Answers: Integration practice #1 

Write the indefinite integrals 

1 ∫ 3𝑥(𝑥ଶ +  5)ହ . 𝑑𝑥   =  య  మ × ల  (𝑥2 +  5)6 + c =  భ ర  (𝑥2 +  5)6 + c 

 

2. ∫ ௫ ା ଵ଴ହ௫ .dx   = ∫  ଵ ହ  +  ଶ ௫ .dx   =  భ ఱ  x + 2 ln x + c 

 

3. ∫ √4𝑥 + 3 . 𝑑𝑥 =  భ ర × భ.ఱ   (4𝑥 + 3)1.5 + c  =   భ ల   (4𝑥 + 3)1.5 + c 

 

4. ∫  1  2𝑥 + 1  + 𝑒ଷ௫ . 𝑑𝑥 =  భ మ  ln | 2x + 1 | + భ య  𝑒3𝑥 + c  

Calculate the definite integrals: 

5. ∫  (3𝑥 + 4)√𝑥 . 𝑑𝑥ଷଵ   = ∫31  3x1.5 + 4x0.5 .dx   = [ యమ.ఱ x2.5 + రభ.ఱ  x1.5 ] 31    

        = 28.70 

6. ∫  ௫௫మ ା ଵ ଷ଴ .dx    = [ భ మ  ln | x2 + 1 | ] 30      

        = 1.151 

7. ∫ ସୡ୭ୱమ(ଶ௫) గ ଼ൗ଴ .dx   = ∫
𝜋 3ൗ 0   4 sec22x .dx   = [ ర మ  tan 2x ]

𝜋 8ൗ 0      
        = 2 

8. ∫  ସ௫ ା ௫మ√௫య  ଵ଼ .dx   = ∫81 x
ିଵ ଷൗ  (4x + x2) .dx  = = ∫81 4 x

ଶ ଷൗ  +  x
ହ ଷൗ  .dx     

    = [ ర×యఱ  x
ହ ଷൗ  + య ఴ   x଼ ଷൗ  ] 81  = 170.025   


